
SITUATION: 
HH comp consists of mother, father and 4 CW/FS children. The case has been 
converted to a 30-0 due to the disability of both parents. There are doctor 
statements on file for the mother that clarify she is long term disabled. The case for 
the father simply has the narrative from the employment services worker stating 
this is why his case was closed. Case was pulled from the all families universe 
which is correct.  
 
Question: 
Do we code T48 the same for both adults as we do in the cases from the 2-parent 
universe? Is the narrative from the ES worker sufficient to verify the client's 
disability?  
 
ANSWER: 
The narrative from the WTW worker is sufficient. 
 
The mother should be coded 7 in T48. 
Dad will be code 14 (No Hours of Participation). 
The WTW requirement is 30 hours per week for this family.          
 


